B hEER Akl
e itk T FAEXFIL ZHEMEAFIL
55 e it a0 AIVHTH>

VDR IKEERE SRR IKEDERE EVDRE IKEERE EVDRE IKEEE
mg/g-wet po/L mg/g-wet po/L mg/g-wet po/L mg/g-wet pg/L

V] 4R\ 1.0 - <0.00006 - <0.0001 - <0.0002 -

) ERNI [314@ 4B\ 41 - 0.51 - <0.0001 - <0.0002 -

FERNNE |J4@ 4B 22 - 0.36 - <0.0001 - <0.0002 -
) 17K WFKE - <0.003 - <0.02 |- <0.03 - <0.05

J57® 4B 26 - 1.3 - <0.0001 - <0.0002 -

-l 5@ 4B\ 40 - 2.5 - <0.0001 - <0.0002 -

2 I 7573 4B 110 - 12 - <0.0001 - <0.0002 -

a4 4 56 - 8.2 - <0.0001 - <0.0002 -
A1) 17K WTFKE — <0.003 — <0.02 - <0.03 - <0.05

e J4@ 4 56 - 3.1 - <0.0001 - <0.0002 -

3 —peis mE(e) 4B 19 - <0.00007 - <0.0001 - <0.0002 -
- ) 117K WFKE - <0.003 - <0.02 - <0.03 - <0.05

ZE)l| O 4R\ 0.12 - <0.00008 - <0.0002 - <0.0003 —

4 = is J4@ 4 <0.00001 - <0.00005 - <0.0001 - <0.0002 -
A1) 17K ] — <0.003 — <0.02 - <0.03 - <0.05

51| +>JF 4 <0.00002 - <0.0001 - <0.0002 - <0.0004 -

5 tht S TN 4R\ <0.00003 - <0.0001 - <0.0003 - <0.0005 —
) 17K i) - <0.003 - <0.02 - <0.03 - <0.05

LB )I] O 4R\ 0.10 - <0.00009 - <0.0002 - <0.0003 —

6 —p J4@ 4 <0.00002 - <0.0001 - <0.0002 - <0.0004 -
A1) 17K ] <0.003 — <0.02 - <0.03 - <0.05
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